1 2 | 3 L 5 6 7 8
1 cable entry
A A
? 152 Cover screw ST2,2 X 12,0
’ Type H philips
| — — k
P Il .
| Screw for cable clamp ST2,2
| Type H philips
s ix 2ii =] ' s
41,0
532 Thread size
Screw fype (Optional)
| (Optional) |
- Min. 3,5
£ Max. 11,0
C ' c
Screw type
(Optional)
_ Ring
Content D-Sub hood Spare parts (M0Q100)
D . = Pos. Quantity |Description Part Number Quantity | D
2 01 1 |Bottom hood
E 02 1 Top cover
o 03 2 Locking screw:(Preassembled)
|| either slotted cheese head short locking screw 4-40 UNC( ==
Knurled long Slotted cheese head for 0967 025 0443)
locki Knurled long Slotted cheese head ) :
ocking screw locking screw M3 short locking screw M3 short locking screw UNC or slotted cheese head short locking screw M3(for 0967
UNC 4-40 ] g 4-40 025 0483)
or knurled long locking screw 4-40 UNC(for 0967 025 0433)
- or knurled long locking screw M3(for 0967 025 0493) -
04 2 Cover screw ST2,2
05 2 Clamp screw ST2,2 0967 000 9944 1
06 1 Cable clamp 0967 000 9943 1
] 09 67 025 04X3 All Dimensions in mm Scale Free size tol. Ref. |
09 67 025 0493 M3 o ek e With ring & St | 7 — )
09 67 025 0433 | 4-L0 UNC g o Without ring UG | Al rights reserved | it 1S I N e
F1 09 67 025 0443 L0 UNC ort focKIng strew Without ring - D-Sub metallized hood 25-[30[9 with lO(kIﬂg SCrews /0D | F
. Identification for Type Number Rev. Page
Part number Screw size Screw type locking screw 0-32339 Espelkanp TB 09670250LX3 D 11
1 | 2 | 3 L 5 6 | ? | 8

A3



